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Model Question Paper

1. hn{h-P-\-se≥kv F∂-dn-b-s∏-Sp∂ se≥kv

(a) tIm¨tIhv se≥kv

(b) tIm¨shIvkv se≥kv

(c) knen-{≠n-°¬ se≥kv

(d) ss_t^m-°¬ se≥kv

2. Hcp hkvXp-hns‚ `qan-bnse `mcw 240 kg
Bbm¬ N{μ-\n¬ hkvXp-hns‚ ̀ mcw F{X?

(a) 40 kg (b) 20 kg (c) 30 kg (d) 60 kg
3. ]mc-ºcy-tcm-K-amb Xme- o-anb (Thalas-

semia) _m[n-°p∂ icoc `mKw.

(a) lrZbw (b) izmk-tImiw

(c) hr° (d) c‡w

4. Km¿ln-Im-h-iy-Øn-\m-bp≈ F¬.-]n.-Pn.

Kymkv knen-≠-dns‚ `mcw

(a) 15 In.{Kmw (b) 14.2 In.{Kmw

(c) 16.2 In.{Kmw (d) 12 In.{Kmw

5. "Izm¿Svkv' F∂-dn-b-s∏-Sp-∂Xv

(a) knen-°¨ ssU HmIvsskUv

(b) bptd-\nbw HmIvsskUv

(c) Im’yw HmIvsskUv

(d) knen-°¨ Im¿ss_Uv

6. tkmUm-sh-≈-Øn¬ AS-ßn-bn-cn -°p∂

BknUv

(a) HmIvkm-enIv BknUv

(b) kn{SnIv BknUv

(c) Im¿t_m-WnIv BknUv

(d) Ask-‰nIv BknUv

7. B‚n-t_m-Un-Iƒ DXv]m-Zn-∏n-°p∂ tImi-ß-

fmWv

(a) amÃv tImi-ßƒ

(b)  AUn-t]mkv tImi-ßƒ

(c) enwt^m-ssk-‰p-Iƒ

(d)  lnÃn-tbm-ssk-‰p-Iƒ

8. tπ‰ve-‰p-I-fpsS Bbp¿ssZ¿Lyw

(a)  4 ˛ 7 Znhkw (b)  10 ˛ 15 Znhkw

(c)  15 ˛ 20 Znhkw (d)  12 ˛ 16 Znhkw

9. t]mtkm-fPn F∂-dn-b-s∏-Sp-∂Xv F¥mWv

(a)  tcmKh¿§o-I-cWw

(b) acp-∂ns‚ Af-hn-s\-°p-dn-®p≈ ]T\w

(c) apdn-hp-I-sf-°p-dn-®p≈ ]T\w

(d) ]pcp-j-∑m-cpsS Btcm-K-y-sØ-°p-dn-®p≈

]T\w

10. {]Ir-Xn-bpsS tSmWnIv F∂-dn-b-s∏-Sp-∂Xv

(a)  ]∏mb (b) amºgw

(c) GØ-∏gw (d) B∏nƒ

11. ]m¿e-sa‚ns‚ kwbp‡ ktΩ-f-\-Øn¬

A[y£ÿm\w hln-°p-∂Xv

(a)  {]kn-U‚ v (b)  kv]o°¿

(c)  sshkv {]kn-U‚ v(d)  {][m-\-a{¥n

12. Hcp kwÿm-\Øv ̀ c-W-L-S-\m-]-c-amb {]Xn-

k-‘n-bp-≠m-Ip-tºmƒ cmjv{S-]-Xn-`-cWw

{]Jym]n°p∂Xv GXv A\p-tOZ {]Im-c-

amWv?
(a)  352 (b)  360 (c)  356 (d)  CsXm-∂p-a√

13. 6 hb p apX¬ 14 hb- p-h-sc-bp≈ Ip´n-

Iƒ°v kuP-\y hnZ-ym-`-ymkw auen-Im-h-Im-

i-am°n am‰nb `c-W-L-S\m t`Z-KXn

(a)  86˛mw t`Z-KXn (b)  92˛mw t`Z-KXn

(c)  97˛mw t`Z-KXn (d)  85˛mw t`Z-KXn

14. \nb-a- hmgvN (Rule of law) F∂ Bibw

C¥y IS-sa-Sp-Øn-cn-°p-∂Xv GXv cmP-y-Øn¬

\n∂mWv?

(a)  {_n´¨ (b)  Ata-cn°

(c)  Im\U (d)  Ab¿e‚ v

15. hnh-cm-h-Imi \nb-a-{]-Imcw hnhcw Xnc-°p-

∂-Xn\v At]-£m-^okv F{X-bmWv?

(a)  1 (b)  5 (c)  10 (d)  30
16. Ata-cn-°-bn¬ 1861˛1865 ImeØv B`y-¥-c-

bp≤w \S-∂-t∏mƒ Ata-cn-°≥ {]kn-U‚ v.

(a) Xntbm-U¿ dqkvsh¬‰v

(b) hn≥Ã¨ N¿®n¬

(c) F{_lmw en¶¨

(d) tPm¿Pv hmjn-MvS¨

17. temI-Ønse BZy Ce-Ivt{Sm-WnIv Hmlcn

hn]Wn

(a) Uu-tPm¨kv (b) kn.-F.-kn.-Fw.

(c) \mkvUm°v (d) sa¿h¬

18. tIc-f-Ønse BZysØ Iq´p-I£n a{¥n-k-

`bv°v t\XrXzw \¬In-bXv.

(a) C. Fw. Fkv (b) ]´w- Xm-Wp-]n≈

(c) B¿. i¶¿ (d) kn. F®v. apl-ΩZv tImb

19. Nph∂ {Klw (red planet) F∂-dn-b-s∏-Sp-

∂Xv?

(a)  sNmΔ (b)  ip{I≥

(c)  bpdm-\kv (d)  `qan
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20. `qan-bpsS DØ-c-{[p-h-{]-tZiw GXv kap-{Z-Øn-

emWv ÿnXn sNøp-∂Xv

(a) B¿´nIv (b) A‰vem‚nIv

(c) ]k-^nIv (d) A‚m¿´nIv

21. C¥y-bn-te°v hntZ-i-\n-t£]w IqSp-X-embn

FØp∂ cmPyw

(a) ssN\ (b) Ata-cn°

(c) CIz-tUm¿ (d) audo-jykv

22. `qa[ytcJbv°v G‰hpw ASpØv ÿnXn-sN-

øp∂ Xe-ÿm\ \Kcw

(a) A{I (b) Jm¿Øpw

(c) Iznt‰m (d) ephm≠

23. Ic -tk-\ -bpsS ktX¨ Iam≥Uns‚

Bÿm\w

(a) sIm®n (b) Ggn-ae

(c) _¶-epcp (d) ]qs\

24. Hfnw]nIvkn¬ BZy-ambn h\nX t_mIvkn-

Mn¬ kz¿Æ saU¬ t\Snb \nt°mf

BUwkv GXv cmPy-°m-cn-bmWv

(a) Ata-cn° (b) djy

(c) bp.-sI. (d) {^m≥kv

25. 'b{X hnizw ̀ h-tXy-I-\oUw' ̨  GXv k¿Δ-I-

em-imebpsS B]vX hmIy-amWv

(a) sIm¬°Ø k¿Δ-I-em-ime

(b) Ph-l¿em¬ s\lvdp bqWn-th-gvkn‰n

(c) Ct·m

(d) hniz`m-cXn bqWn-th-gvkn‰n

26. tIc-f-Ønse G‰hpw henb ]oT-`qan

(a) s\√n-bm-ºXn (b) s]cn-bm¿

(c) hb-\mSv (d) ]ocp-taSv

27. tIc-f-Øn¬ BZy-ambn IpSpw-_{io ]≤Xn

\S-∏n-em-°nb Pn√

(a) Be-∏pg (b) IÆq¿

(c) ae-∏pdw (d) sIm√w

28. IrjvWtZh-cm-b-cpsS kZkv kμ¿in®

{]ikvX BNm-cy≥.

(a) h√-`m-Nmcy (b) cmam-\-μ≥

(c) cmam-\p-P≥ (d) I_o¿

29. tIc-f-Øn¬ G‰-hpw IqSp-X¬ NpÆmºv

\nt£]ap≈ Pn√

(a)  sIm√w (b)  Be-∏pg

(c)  ]me-°mSv (d)  ae-∏pdw

30. C¥-ym-tK‰v cq]-I-ev]\ sNbvX-Xmcv
(a) FU-zn≥ eq´n≥kv

(b) sl¿_¿´v t_°¿
(c) tPm¿Pv hn-s‰‰v
(d) tPm_v Nm¿tWm°v

31. DØ-tc-¥-y-bn¬ kºq¿Æ km£-cX t\Snb

BZy Pn√
(a) Aen-]q¿ (b) APvao¿
(c) Aw_me (d) Aen-cm-Pv]q¿

32. B{‘m kwÿm-\-Øns‚ BZy apJ-y-a{¥n

Bcv?
(a) t]m‰n {iocm-aep
(b) ‰n. {]Imiw

(c) \oew kRvPoh sdUvVn
(d) Fw.-sI. sht≈mSn

33. {]mNo-\-Im-eØv U®v CuÃn≥Uokv F∂-
dn-b-s∏-´ncp-∂ cmPyw?

(a) shÃv C≥Uokv (b) Ct¥m-t\jy
(c) awtKm-fnb (d) Xmbve‚ v

34. Kƒ^v Fb¿ GXp cmPy-Øns‚ hnam-\-

k¿Δo-kmWv
(a) _lvssd≥ (b) bp.-F.C
(c) JØ¿ (d) se_-\≥

35. "Gjy-bpsS IhmSw" F∂-dn-b-s∏-Sp∂

cmPyw
(a) ^nen-s∏≥kv (b) Ct¥m-t\jy
(c) atejy (d) Xmbve‚ v

36. Qm≥kn -dm-Wn-bpsS bYm¿∞-t]cv?

(a) kc-fm-tZhn (b) aWn- I¿WnI
(c) {]nbw-hZ (d) {]nb-Z¿in\n

37. tamhv F∂ ÿeØv P\n® alm-\mb
t\Xmhv

(a) _n.-B¿. Awt_-ZvI¿
(b) emem -e-Pv]-Xv dmbv
(c) _n]n≥ N{μ-]m¬

(d) tKm]m-e-Ir-jvW -tKm-Jse

38. k¿Δ-cm-Py-k-Jy-Øns‚ Ah-km\ sk{I-́ dn

P\-d¬

(a) ko≥ seÃ¿

(b) sPbnwkv Fdn°v {UΩ≠v

(c) {SnKzoen

(d) tPmk^v Ah-t\m¬

39. Snw s_¿tWgvkv eo hnI-kn-∏n®, temI-
Ønse BZysØ sh_v {_uk-dn\p
\¬Inb t]sc¥v?

(a)  thƒUv sshUv sh_v (b) Ht∏d

(c) k^mcn (d)  F]nIv
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40. C¥y-bn¬ cPn-Ã¿ sNbvXn-´p≈ BZysØ

ssk_¿ ss{Iw BcpsS t]cn-emWv

(a) tPmk^v tacn PmIzmUv

(b) Bkn^v Akow

(c) ]h¿ Up§m¬

(d) apl-ΩZv ^ntdmkv

41. Pmh- tkm^v‰vshb-dns‚ BZy t]cv?

(a) Hm°v (b) hm°v

(c) hn.-_n (d) t_knIv

42. bpK-]p-cp-j≥ F∂ kn\na kwhn-[m\w

sNbvXXv?

(a) B¿. kpIp-am-c≥ (b) sI. kpIp-am-c≥

(c) ]n. kpIp-am-c≥ (d) Fw.-kp-Ip-am-c≥

43 PqX-im-k\w ]pd-s∏-Sp-hn® Ipe-ti-Jc N{I-

h¿Øn ?

(a) `mkvI-cchn-h¿Ω I
(b) `mkvI-c-chn h¿Ω II
(c) `mkvIc chn-h¿Ω III
(d) chn-cm-a-h¿Ω

44. sIm®n-bnse BZy {][m-\-a-{¥n.

(a) C°-≠-hm-cy¿

(b) ]\-ºn≈n tKmhn-μ-ta-t\m≥

(c) ]´w XmWp-]n≈

(d) ]d-hq¿ Sn.-sI. \mcm-b-W-]n≈

45. inh-Pn-bpsS aI-\mb kmw_m-Pnsb h[n®

apKƒ `c-Wm-[n-Im-cn.

(a) jmP-lm≥ (b) _l-Zq¿jm II
(c) Bewjm II (d) Hudw-K-ko_v

46. {In]vkv anjs‚ ]cm-P-b-sØ XpS¿∂v

tIm¨{K v Bcw-`n® ka-cw.

(a) knhn¬\nba ewL\w

(b) Jnem-^Øv {]ÿm\w

(c) \n -l-I-c-W -{]-ÿm\w

(d) Izn‰v C¥ym -k-acw

47. C¥y≥ \mjW¬ tIm¨{K ns‚ BZy

{]tabw Ah-X-cn-∏n-®-Xv.

(a) _mcn-Ã¿ Pn. ]n. ]n≈

(b) Pn. kp{_-aWy Aø¿

(c) F. H. lyqw

(d) W. C. _m\¿Pn

48. A¥m-cmjv{S {In°-‰n¬ 400 knIvk-dp-Iƒ

t\Sp∂ BZy -I-fn-°m-c≥ F∂ _lp-aXn

kz¥-am-°nbXv

(a) k®n≥ sS≥Up¬°¿(b) bph-cm-Pv knMv

(c) jmlnZv A{^oZn   (d) Ipam¿ kwK-°mc

49. 2013 ¬ hm¿Øm-hn-\n-ab Bh-iy-Øn-\mbn

bqtdm-∏n¬ \n¿Ωn® G‰hpw henb D]-

{Klw?

(a) _o‰m-km‰v (b) B¬^m-km‰v

(c) Ft°m-km‰v (d) sa‰vkm‰v

50. ASp-ØnsS GXv cmPysØ {]kn-U‚n-\mWv

2013-˛¬ hnam-\-Øn¬ Xß-fpsS BIm-im-

Xn¿Øn-bn¬ IqSn ]d°m≥ kuZn Atd_y

A\p-aXn \ntj-[n-®-Xv.

(a) s_mfo-hnb (b) {_n´¨

(c) kpUm≥ (d) sI\nb

51. kar≤n F∂ ]Zw ]ncn-s®-gp-Xp-tºmƒ

(a) k+E≤n (b) kw + E≤n

(c) kar+≤n (d) kw+ar≤n

52. {Inb-bpsS aqecq]w

(a)  {]IrXn (b)  {]Xybw

(c)  CS-\ne (d)  [mXp

53. D÷zew F∂ hm°ns‚ hn]-co-X-]Zw

(a) Aekw (b) Pzew

(c) Pze\w (d) A]-Pz-e\w

54. A¿∞-hy-Xymkw Fgp-XpI

klm-kw, kmlkw

(a) [oc-{]-hr-Øn, Nncn-®p-sIm≠v

(b) Nncn-®p-sIm-≠v, [oc-{]-hrØn

(c) FSp-Øp-Nm-´w, Nncn-®p-sIm≠v

(d) Nncn-®p-sIm≠v, \√ {]hrØn

55. Pohn-X-∏mX F∂ IrXn GXp hn`m-K-

Øn¬s∏-Sp-∂p.

(a) Bfl-IY (b) Poh-N-cn{Xw

(c) bm{Xm-hn-h-cWw (d) t\mh¬

56. icn-b-√mØ {]tbm-K-taXv?

(a) ktΩ-f-\-Øn\p ap∂q-tdmfw t]¿ D≠m-

bn-cp-∂p.

(b) ktΩ-f-\-Øn¬ GI-tZiw ap∂q-tdmfw

t]¿ D≠m-bn-cp-∂p.

(c) ktΩ-f-\-Øn¬ GI-tZiw ap∂q-dp-t]¿

D≠m-bn-cp∂p

(d) ktΩ-f-\-Øn\p ap∂q-dp-t]¿ D≠m-bn-cp-

∂p.

57. ]ncn-°m≥ ]mSn-√mØ H‰-bmbn \n¬°p∂

[z\n

(a) h¿Æw (b) hyRvP\w

(c) en]n (d) A£cw
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58. cma\pw IrjvW\pw Ch-bn¬ Dw  F∂Xv

(a) ImcIw (b) Ahybw

(c) \n-]mXw (d) KXn

59. kzc-hy-RvP\ k‘n-bv°p-Zm-l-c-W-taXv?

(a) Xncp-thmWw (a) Cu´n-s∏´n

(c) ]®cn (d) hgn-b-ºew

60. A£-c-ß-fpsS D®m-c-WsØ {]Xn-]m-Zn-

°p∂ imkv{Xw

(a) in£ (b) \ncp‡w

(c) hymI-cWw (d) `mjm-imkv{Xw

61. Feminine of Bachelor
(a) Mistress (b) Nun
(c) Spinster (d) Bride

62. A bad workman ……………. blames his
tools.
(a) used to (b) always
(c) will (d) may

63. I would hurry up, if I ______ you.
(a) were (b) was (c) is (d) am

64. In your examination you should not write any-
thing irrelevant ____ the question.
(a) with (b) of
(c) to (d) against

65. It is easier ___ others than to do better than
they have done.
(a) to run on (b) to run down
(c) to run over (d) to run in

66. People elected him leader (change into passive
voice)
(a) He is elected leader by people.
(b) He was elected leader by people.
(c) He was elected leader of people.
(d) Leader was elected people.

67. You have only half an hour left, so you had
better ________  the most of it.
(a) made (b) Make (c) do (d) does

68. He told me that he ________ .
(a) was disappointed (b) is disappointed
(c) had disappointed (d) is disappointing

69. My teacher asked me whether I ____ solve
the problem.
(a) can (b) could (c) have (d) was

70. The young one of mosquito is …………
(a) nymph (b) fawn
(c) eyas (d) tadpole

71. There was _____ ugly scar on his face.
(a) the (b) a (c) an (d) none of these

72. He had ____ money with him and was starv-
ing.
(a) few (b) little
(c) a little (d) the little

73. The higher you climb a Himalayan peak, ____
you feel.
(a) the colder (b) the most cold
(c) colder (d) more colder

74. It ____ that only the wearer knows where the
shoe pinches.
(a) says (b) will say
(c) was said (d) is said

75. The word ‘acclaim’ mans
(a) disfavor (b) a peculiar demand
(c) censure (d) approval

76. Tell me where ____
(a) are you going (b) will you go
(c) do you live (d) you live

77. The opposite of  ‘provocation’ is :
(a) vocation (b) pacification
(c) peace (d) destruction

78. A place where coins are made is called
(a) dock (b) drapery
(c) mint (d) granary

79. I have lost my ____ of keys.
(a) collection (b) group
(c) bunch (d) pieces

80. If one fails (1) / several times (2)/ he is likely
(3) / to get discouraged(4) /
(a) 1 (b) 2 (c) 3 (d) 4

81. 1, 3, 12, 60, ____ F∂ t{iWn-bnse ASpØ

kwJy.

(�) 220 (�) 240 (�) 230 (�) 360
82. HATE F∂ ]Zw ETAH Fs∂-gp-Xn-bm¬

LOVE F∂ ]Zw Fß-s\-sb-gp-Xmw?

(a) ELOV (b) EVOL
(c) KTZH (d) KZTH



www.talentacademy.co.in Talent Academy hnP-b-tcJ {]kn-≤o-I-cWw

Model Question Paper

83. kap{Zw sh≈-hp-ambn _‘-s∏-́ n-cn-°p-∂-Xp-

t]mse lna-]mfn F¥p-ambn _‘-s∏-´n-cn-

°p-∂p.

(a) ioXw (b) sFkv

(c) ]¿hXw (d) Kpl

84. Iq´-Øn¬ tNcm-ØXns\ Is≠-ØpI?

(a)  NXpcw (b)  {XntImWw

(c)  Zo¿L-N-Xpcw (d)  hrØw

85. 2010 P\p-hcn 15 sh≈n-bmgvN P\n®

Ip™ns‚ 5 hb v ]q¿Øn-bm-Ip-∂Xv GXv

Znh-k-am-bn-cn°pw?

(a) Xn¶ƒ (b) hymgw

(c) _p[≥ (d) sh≈n

86. kabw 6.30 tImW-fhv F{X?

(�) 450 (�) 150 (�) 300  (�) 600

87. aIs‚ hb- ns‚ aq∂n-c-´n-bmWv C∂v

A—s‚ hb v. 5 sIm√w apºv  aIs‚ hb-

 ns‚ \men-c-´n-bm-bn-cp∂p A—s‚ hb v

F¶n¬ aIs‚  C∂sØ hb-s {X?

(a) 15 (b) 20 (c) 10 (d) 18
88. Hcmƒ sXt°m´v 3 In.-ao. \S-∂p. he-tØm´v

Xncn™v 1 In.-ao. \S-∂p. XpS¿∂v he-Øv,

CS-Øv, he-Øv, CS-Øv, heØv F∂n-ßs\

Hmtcm In.-ao. hoXw \S-∂p. Ah-km\w

Abmƒ ]pd-s∏´nSØp \n∂pw F{X AIse

FØn ?

(a) 4 Inao. (b) 3 In.-ao.

(c) 10 In.-ao. (d) 7 In.-ao.

89. ARvPp-hn\v A\p-hn-s\-°mƒ {]mb-ap-≠v.

KoXbv°v eX-tbmfw {]mb-an-√.

 ]t£, A\p eX-sb-°mƒ {]mb-ap-≈-h-fm-

Wv. BcmWv bYm {Iaw aqØhfpw Cf-b-

hfpw ?

(a) ARvPp, eX (b) ARvPp, KoX

(c) A\p, KoX (d)A\p, eX

90.
x

1

4

1

3

1

2

1
+++ =3 Bbm¬  x s‚ hne

F{X?

(a)  23/12 (b)  24/3 (c)  22/12  (d)  
23

12

91. c≠v kwJy-I-fpsS KpW-\-^ew 12000 e.-

km.Kp 600 Bbm¬ H.C.F. ?
(a) 20 (b) 30 (c) 40 (d) 50

92. Hcp _mKn¬ 1 cq]bp-sSbpw 50 ss]k-bp-

sSbpw 25 ss]k-bp-sSbpw \mW-b-ß-fp-≠v.

\mW-b-ßƒ 5:7:9 F∂ Awi-_-‘-Ønepw

BsI XpI 430 Dw Bbm¬ _mKn¬ 25

ss]k-bpsS F{X \mW-b-ßƒ D≠m-bn-

cn°pw?

(a) 200 (b)150 (c) 280 (d) 360
93. Hcp kwJy-bpsS 60% h¿≤n-∏n-®-Xn-\p-tijw

60% Ipd-®m¬ B kwJy-bn¬ F{X iX-

am\w am‰-ap-≠mIpw?

(�) 20% h¿≤\hv (�) 20% Ipdhv

(�) 36% Ipdhv (�)iXam\Øn¬ am‰an√

94. Hcmƒ ‘A’ bn¬ \n∂v ‘B’ te°v 20 km/hr.
thK-Ønepw Xncn®v ‘A’ bnte°v 30 km/hr
thK-Ønepw k©-cn-®p. BsI bm{X-bn¬

Abm-fpsS icmicn thKX km/hr -̨ ¬ F{X?

(a) 40 (b)24 (c) 50 (d) 60
95. Hcmƒ 400 cq]bv°v Hcp ]pkvXIw hmßn

20% em`-Øn¬ as‰m-cmƒ°v hn¬°p-∂p-sh-

¶n¬ hn‰-hne F¥v?

(a) 500 (b) 520 (c) 405 (d) 480
96. Hcp Sm¶n¬ 3 C≥se‰v ss]∏p-Iƒ D≠v.

Ah Xpd-∂m¬ bYm-{Iaw 4,6,8 aWn-°q-dp-

Iƒ sIm≠v Sm¶v \nd-bp-sa-¶n¬ Ah aq∂pw

Hcp-an®v Xpd-∂m¬ F{X aWn-°q¿ sIm≠v

Sm¶v \ndbpw?

(a) 1 13
11

 aWn-°q¿ (b) 1 13
15

aWn-°q¿

(c) 2 aWn-°q¿ (d) 2 13
11

aWn-°q¿

97. Hcp XpI Iq´p-]-en-i-bn¬ 8% \nc-°n¬ 2

h¿j-tØbv°v Hcp _m¶n¬ \nt£-]n-®-

t∏mƒ 11,664 cq] e`n-®p-sh-¶n¬ \nt£-]n-

®-XpI F¥v?

(a) 10200 (b) 11000
(c) 10500 (d) 10000

98. 54 km/hr thK-X-bn¬ k©-cn-°p∂ 300

ao‰¿ \of-ap≈ Hcp Xoh≠n Hcp Ce-Iv{SnIv

t]mÃv IS-∂p-t]m-Im≥ F{X sk°‚ v ka-

b-sa-Sp-°pw?

(a) 10 sec. (b) 20 sec ( c) 30 sec. (d) 5 sec.
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99. a – a
1 = 3 Bbm¬ a2+ 2a

1
 F{X ?

(�) 11 (�) 6 (�) 9 (�) 7

100. (16)3/2 + (16)-3/2

(a) 64
2096

(b) 64
4096

(c) 64
4097

(d) 4096

81.  (d) (1x3 = 3, 3x4 = 12, 12 x 5 = 60, 60 x 6 =
360 F∂ {Ia-Øn¬ t]mIp-∂p)

82. (b) H A T E  → E T A H Bb-Xn-\m¬

1  2 3 4  4  3 2 1
LOV E EVO L   Bbn-cn°pw

1 2 3 4 4 3 2 1
83. (b) kap-{Z-Øn¬ sh≈w ImWp-∂-Xp-t]mse

lna-]m-fn-bn¬ sFkv ImW-s∏-Sp-∂p.

84. (d) X∂n-cn-°p-∂-Xn¬ h{I-cq-]-ap-≈Xv hrØ-

Øn-\m-Wv.

85. (b) 2010 P\p-hcn 15 sh≈n

2011 P\p-hcn 15 i\n

2012 P\p-hcn 15 Rmb¿

2013 P\p-hcn 15 sNmΔ

2014 P\p-hcn 15 _p[≥

2015 P\p-hcn 15 hymgw

Ip™n\v 5 hbkv ]q¿Øn-bm-Ip-∂Xv

hymgm-gvN-bm-bn-cn-°pw.

86. (b) aWn-°q-dn-t\bpw an\n-́ n-t\bpw Htc kwJy

{]Xn-\n-[m\w sNøp-∂p. AXn-\m¬ tImW-

fhv 30 s‚ ]IpXn = 150

87. (a) aIs‚ hbkv ‘S’ Dw A—s‚ hbkv ‘F’
Dw Bbm¬

F = 3S
(F-5) = 4(S-5)

3S-5 = 4S - 20
S = 15

88. (b)

89. (b) ARvPp  < A\p < eX < KoX

90. (d)

x

1
 = 3– (

4

1

3

1

2

1
++ )

x

1
 = 3–(

12

346 ++ )

x

1
 = 3–

12

13

x

1
 = 

12

1336 −
 = 

12

23

x   =  
23

12

1km 1km

1km 1km

1km
1km

3km
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1. (a) 2. (a) 3. (d) 4. (b) 5. (a) 6. (c) 7. (c) 8. (a) 9. (b) 10. (c)
11. (b) 12. (c) 13. (a) 14. (a) 15. (c) 16. (c) 17. (c) 18. (b) 19. (a) 20. (a)
21. (d) 22. (c) 23. (d) 24. (c) 25. (d) 26. (c) 27. (c) 28. (a) 29. (c) 30. (a)
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91. (a) H.C.F = kwJy-I-fpsS KpW-\-^ew

              L.C.M.

= 600

12000
=  20

92. (d) \mW-b-ß-fpsS FÆw 5x, 7x, 9x
Bbm¬

500 x + 350 x + 225 x = 43000
10.75x = 430

x= 75.10
430

 = 1075
100430×

= 40

25 ss]k \mW-bß-fpsS BsI

FÆw = 9x
=9 × 40 = 360

93. (c) h¿≤-\-hns‚ iX-am\w = 

100

2x−

%

= 
100

)60( 2−
% [ ]%60=xQ

= 
100
3600−

%  = - 36%

36% Ipd-hp-≠mIpw

94. (b) icm-icn thKX= 50
302022 ××

=
+ yx
xy

=  24kmhr.

95. (d) SP = CP ×

⎟
⎠
⎞

⎜
⎝
⎛ +

100
20100

= 400 ×

100
120

 = 480

96. (a) Sm¶v \n-d-bm-s\-Sp-°p∂ kabw

= xzyzxy
x

++
yz

= 488664
864

×+×+×
××

 = 324824
864
++
××

= 104
864 ××

= 13
24

= 1 13
11

-aWn-°q¿

97. (d) A= P
n

⎟
⎠
⎞

⎜
⎝
⎛ +

100
R1 = 11664

P = 11664 ÷

2

100
81 ⎟

⎠
⎞

⎜
⎝
⎛ +

11664 =P
2

100
81 ⎟

⎠
⎞

⎜
⎝
⎛ +

P = 11664×

2

108
100

⎟
⎠
⎞

⎜
⎝
⎛

P =11664×

2

27
25

⎟
⎠
⎞

⎜
⎝
⎛

= 10000

98. (b)
kabw = Xoh-≠n-bpsS \ofw

thKX

=  hrkm
m
/54

300

(C-hnsS Zqcw ao‰-dnepw thKX In.-ao./aWn-

°q-dnepw BWv. CXns\ Hcp bqWn-‰n-te°v

sIm≠p-h-∂p- am{Xta {Inb sNøm≥ ]mSp-

≈q. km/hr˛s\ m/sec  B°m≥ 
5

18
sIm≠v KpWn-°Ww.)

sec/
18
554

300

m

m

×

300
15

=  = 20 Sec.

99. (a) a2 + 2a
1

=  (a – a
1 )2 + 2

= (3)2  +2   = 9 + 2
= 11

100. (c) (16)3/2+(16)-3/2

= (42)3/2 +(42)-3/2

= 43+4-3

= 43+ 34
1

= 64 + 64
1

= 64
14096 +

= 64
4097


